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General Instructions :

(i) All questions are compulsory.
(ii))  Marks for questions are indicated against each of them.
amr=g 73T :
G)  wet gvT s &
(i) TOF 59T & [ i siF 39w o € .
1. (a) Why is target of foodgrain production fixed for every five years in &

India ? Give reasons. 3

(b) Name three important commercial crops of India. Give their
botanical names. 6

(¢) Mention total sugarcane production in India for the year 2006 — 7. 1

(37) WGEd § @Ee IdRd & el Yo e @ & o e ffvea e s
2 ? N FARY |

@) WG F A9 W@ AEEras FEe h AW qaRe | 3 qEefas W f
FasT |

(W) 9K ¥ T F FA s IARA, 2006 —~ 7 H TARC |

2. Fill in the blanks : » 10

@) Yellow revolution is related to prdduction of

(ii) Seed rate of mustard is kg/ha.

(ii1) is the most commonly used biofertilizer.

(iv) Contour strip cropping is adopted to reduce soil

(v) Botanical name of soybean is

(vi) Critical period of weed cohtrol in upland rice is days
after planting.

(vii) 2,4-Dis a herbicide.

(viii) A hectare is equivalent to __ acres.

(ix) Separating grains from bhusa is called :

(x) Predominance of exchangeable sodium in soil develops into °

soil.
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For the following question, four alternative choices have been
provided, of which only one is correct. Select the correct choice.

I C/N ratio of organic matter in furrow slice is
€3] 3:1-4:1
) 6:1-7:1
(iii) 18:1-19:1
Gv) 8:1-15:1

I Redox potential is related to cultivation of
1) Pearl-millet

(ii) Paddy

(iii) .Maize

(iv)  Wheat

III.  Whiptail disease in cauliflower is due to deficiency of

(i) Cu

(ii) Mn

(iii) Mo

(iv) Zn
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IV.  The rate of photosynthesis under the high light intensity may
be controlled by

(i) SO,
(i) CoO,
(i) NH,
(iv)  None of the above
V. Commercial farming is mostly

@) Import oriented
(ii))  Export oriented
(iii) Indigenous use oriented
(iv)  None of the above
(b)  Write very briefly (2 — 3 lines) on the following : 5
(i) Chlorosis
(i)  Black soil
(iii)  Azolla
@iv) Intercropping
(v)  Biological control of pests

(37) ﬁmﬁf&am%ﬁqwﬁwﬁ&w%mﬁ@éﬁaww%lw
fasre g | -
I @ﬁmq%mmﬁaﬁﬁw#@mwﬁmé
i) 3:1-4:1
(ii) 6:1-7:1
(i) 18:1-19:1
(iv) 8:1-15:1
I Gl fave &ft ¥ gafyg &

(i) I~
(i) 99 H:
(ili) HH @t
Gv) W #
L gemdt & fewee I = & aror a2
(i) Cu &t
(ii) Mn =t
(iii)) Mo
(iv) Zn !
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() et gey
(i)  37ser
(iv) =T %geliey

v) Sl fify grr se-frige

Give the following information on the cultivation of groundnut : 10
@) Botanical name

(1)  Family name

(i) A major producing state
(iv)  QOil content

(v)  Nitrogen content in oil-cake
(vi)  Seed rate

(vii) Seed treatment (chemical)

(viii) Main growing season
(ix)  Seed innoculation

x) A common weedicide
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YTeet @ @t & R § ffafen gEe @

(i)  aHsfas 9™

(i) o AW

(i) TH Y@ 3AEH oW
(iv) o« & "

(v) Gt # ARSI & HET
(vi) &N

(vii) SISITER (TEEA)
(viil) 3T & T HH
(ix) oS & SAfFE IR
(x) TS 9 GIUdarRATst

Mark True (T) or False (F) appropriately against the following
statements : 10

@) Ethylene promotes ripening of fruits.

(ii) Marmalade can be made from orange.

(iii) Squash can be prepared from pineapple.

(iv) Cordial and jelly can be prepared from apple.

(v)  Potato should be stored at 15° C;

(vi) Root pruning retards growth of crops.

(vii) For hybridisation, asexual reproduction should be adopted.
(viii) Removal of growing point of plants is called punching.
(ix) Corm is an underground stem..

(x) Panama wilt is a disease of guava.

Frefefian awedl W S @0 @ @@ (T) @ T (F) fafead &

() Ul el F T g a@m el

(i) FR ¥ A T T wEA D

(i) FE ¥ WEN FAE ST FHAT

(iv) oifead a1 Seft 99 § a4 o1 Toha § |

(v) 9Te] ® sleRuT 15° C W &A1 =g |
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Give the following informations about papaya crop :

6)) Botanical name

(i) Family name

(ii) Important product of dried latex

(iv) Soil type needed

(v) An improved variety

(vi) Propagation method

(vii) An important disease of nursery

(viii) A suitable intercrop

(ix) Rate of zinc sulphate application (spray)
(x) Place of origin

T @ v ¥ R 4 Frefates gEe AT
(i)  awfas TH

(i) Fo A

(i) T@ ¢ FeH T TH FE 3T
(iv) HE WER S eIl

(v) T 3

(vi) g=or-fafa

(vii) deeTen @ TE FHE HEd
(viii) T 3= @ HHA

(ix) s wcke @ & K (fBsam)
(x) S WH
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(a)

(b)

(30

C)

Mention the objectives of the following very briefly (2 — 3 lines) : 2

@) Lye peeling
(ii)) Blanching
Give the required information on the three crops :

Garlic

@G) Botanical name

(i) Seed rate
(iii) Yield

Tomato

G) Botanical name

(ii) - An improved variety

(iii) An important insect
Canna

@ Botanical name

(ii) Propagation method

frfafaa & aga dfr< (2 - 3 @A) § SR TaRT
() «r dfem

Gi) A |
frafafga @7 wae | Aff T e T
Seg
(i) amwfaEs AW
(i) ¥
(i) deER
A
(i) amEfas W
(i) U 3IFq fewm
(i) TH & F
kg
(i) aFwfas W
(i) E=or & fafy

3+3+2







